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2
1 For each device shown below, tick the box to show whether the device is
an input device

an output device
® astorage device.

Device Input Output Storage

Mouse

DVD

Printer

Hard disk

Hand-held scanner

Flat screen monitor

Plotter

Digital camera

Concept keyboard

[9]

2 Atouch screen is used by practice nurses in their clinics.

Give three reasons why a touch screen is more suitable than a traditional keyboard for use by the
practice nurses.

[RT= =T o T o i OO PP PO TPTPPPRPP
..................................................................................................................................................... [1]
REASON 2 ..ot e e e e e e e e e e e e e r e e e e e e e e e nreaeee s
..................................................................................................................................................... [1]
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3  Part of Wordsworth Health Centre’s database file is shown below.

Reference | Surname First name | Gender | Address Postcode
001 Patel Sanjay M 12, Willis Way | MM12 6BS
002 Smith Eleanor | F 37, Holme MM12 7HR
Close
. 95, Whinbush
003 Buzan Pierre M Walk MM11 3QV
004 Brady Maureen | F 61, Fairbank | \1v9 4pc
Gardens
(@) How many records are shown on the database?

(b)

(c)

(d)

(e)

.............................................................................................................................................. [1]
For each record, how many fields are shown?
.............................................................................................................................................. [1]
The column labelled Gender uses codes.

Give three reasons why the health centre would wish to use codes in this column.

(R T=T=ETo o i PO
.............................................................................................................................................. [1]
== 1< 0] o S
.............................................................................................................................................. [1]
R T=T=ETo o I TSR PP
.............................................................................................................................................. [1]
State the name of one field that contains only numeric data.
.............................................................................................................................................. [1]
Give a suitable field length for the postcode field.
.............................................................................................................................................. [1]
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4 The health centre wishes to produce a health and safety poster for people using computers.
The poster has been started for you below.

Add your own labels or statements to indicate eight health and safety issues.

(8]
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(a)

(a)

(b)

(c)

5

Explain what is meant by the term computer virus.

.............................................................................................................................................. [2]
Write down two ways you could prevent a computer virus affecting your computer.

L1022 Y/ PP
.............................................................................................................................................. [1]
L= 12T PPPPTPPPPPPP
.............................................................................................................................................. [1]

Write down the name given to someone obtaining access to a computer system without
authority.

.............................................................................................................................................. [1]
State two ways that data on a computer system might be lost or destroyed.

L= 12 PP PPPPTPPRPPPPN
............................................................................................................................................... [1]
LA 12 PSP PPPPPPPRRTPP
.............................................................................................................................................. [1]

Describe two methods that could be used by the health centre to ensure that data is not lost
or destroyed.

1Y =31 T Yo [
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Give two advantages and one disadvantage of using an on-line medical encyclopaedia as
opposed to a paper-based encyclopaedia.

FaXe 1V =T g =T [T PP PP PSP PPPPPPRPPPRN
..................................................................................................................................................... [1]
o A= o] = T [ USSR
..................................................................................................................................................... [1]
(D 1ST=To AVZ= T e= Vo = OO PP PP TP PPPPP
..................................................................................................................................................... [1]

Wordsworth Health Centre is linked to other health centres across the country to enable the
exchange of patient data.

(a) State one advantage to the patient

(c¢) The health centre system uses two types of network.

Describe one difference between a Local Area Network (LAN) and a Wide Area Network
(WAN).
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9 Wordsworth Health Centre has decided to use e-mail to communicate with patients rather than
using letters and telephone calls.

(a) State three advantages and one disadvantage of using e-mail to communicate with patients.

AQVANTAGE T ... e e e e s e e e e e e s n e e e e aaa
.............................................................................................................................................. [1]
AGVANTAGE 2.t e e e e e e e e e e e e e e e e e e e e e et e e e e n e e et e e e e e e nrreeeeeeeaaaann
.............................................................................................................................................. [1]
FAXe (V7= g1 =T [T PSP P PP
.............................................................................................................................................. [1]
(D1 T=T0 A= T ¢= o = S TP PPPPT PP
.............................................................................................................................................. [1]
(b) State three items needed to use e-mail at home.
L
.............................................................................................................................................. [1]
2 PPPTRPPPRR
.............................................................................................................................................. [1]
5 PR
.............................................................................................................................................. [1]
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10  State three ways that ICT can be used to assist in paying staff wages.

WY T ettt sssssesssasesssessnasessesssssesssssessssssssssssssessnsessssssssessssess eeeeesesesseeeane
...................... (1]
WY 2 coeetseteissesssssssasssssisesstssesssssesssssssssssssssssasssssnsssssnssssens e
...................... [1]
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